AMAT 217 OFFICIAL FORMULA SHEET
A: BASIC INTEGRALS

Let r.a,per ,r=-1, a=0and g>o.
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4, J'sin(::zx) dx = m«é«{ cos{ax) + C 5. Icm{m} dx *g; sin(ax)y + C
6. J'tan{ax) dx = «é« Injsec{ax)| + 7. J‘ cot{ax) dx = —é; In Isin{ax)] + (

8. J‘scc{ax) dx = %‘? In sec{ax) + tan{ux)| + € 9. ji:sc(ax} dx = mé; Injesc(x) — cot{x)+C

10. jsefsz({zx“) dx = %,w tan(ax) + C 11. j’cscz(mx} dx = w»—é— cot(ux) + C
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B: BASIC TRIGONOMETRIC IDENTITIES
GROUP (4) :

A sin(@) e COs(@) N
(i) tan(@) = P (i) couB) = ) (i) sec(®) = os(0) (iv) cse(@) = m{Q}

(i) cos?(B) + sin®(0) = 1 (i) 1 +@an’(@) =sec®(®) (i) cot® (@) +1 = csc?(0)
GROUP {():

(D) sin(20) = 2 sin(@) cos(@) (i) cos(20) = 2cos* (@)~ 1 (ii) cos(20) = 1 - 2sin(H)
GROUP (D) :

(7) sin{~6) = —sin(®) (i) cos(~0) = cos(H) (iity tan(~0) = —tan(®)

END



